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(-6)+5+2+(-2)=-1
(—=6) + A+ (-9) +8 = —1°|4
A=6

(-2) + 0+ B +8 = -19]A
B=-7
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4.679 X 528 + 4.679 x 472
= 4.679 x (528 + 472)

= 4.679 x 1000
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y==[{(-)"2+ 7} +(-5)
= — [{(+1) + 49} = (-5)]
= - {50+ (-5)}
= —(-10)
=10
x=-3, -2, -1,0,1, 2, 3
yo &¥4p=1 2,5, 10 0|2
=3, -2, -1, 0, 3Z 57




13. g FAS AN U A T EFEa, 255 S
axb o] 3F2?
@ 2x(=3)2 + {3+ (-2)*x (-3)}
©3- {20 22 x(7-5)} +(-3)
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Q@ (F4) =2x9+ {3+4x(-3)}
=2x9=+(3-12)
=2x9=+(-9)
=18+ (-9) = -2
© (£4) =3-{20-4x(7-5)} = (-3)
=3-{20-4x2}+(-3)
=3-(20-8)+(-3)
=3-(+12) + ( 3)
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